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I  Boundaries of n7ty for nRMY 210, DWIP VTP NYIR and DYp DWTP NVNY
a  snpw only liable (for nkmv) within 187x135 mnr
b Confirmation: ®in taught before 11 — n7ry was 187x135 (per &:n mTn)
i 277 raR (his father? 21?) explained that in this area alone,
1 7595 D103 eat VTP YVTP
2 avnw. oY owTp are slaughtered
3 /npiv: there is full liability for wpn nrmv
4 To the exception of: can’t be the doors, windows and thickness of the walls
(a) Reason: Rn»a rules those are considered inside nay
5  Must be: offices in nvty that have doors opening into N9ty but whose interior is in “mundane” space
(a) Challenge: we're taught that that space is "omp”
(i) Answer: that is 12297 (to avoid nrmv there)
(if) Challenge: we're taught that 003 may eat »w1p 'w1p (and nmn »Pw) there, per expansion of v. 1
1. Defense (X27): eating is treated differently (per v. 1)
2. Challenge: there is liability for nkmv there, per 10-»:n v"yn RNaLIN:
a. D272 may: eat VIR OVTP there
b.  But: may not slaughter n'%p ow1p
c.  However: there is liability for nrmv
3. Defense: Xm»1a does except nonw (Pomw PR); proper read is also “no liability for nrmv (1a7n Pr)
a.  Analysis: we understand why there is no 0’%p WP NVNY there — it isn't nnan ™
i.  However: why is there no liability for nxmv (if it’s treated like nvry)?
ii. Back: why is there no 0’%p ©wTp NYNY there? It must be nnan ), and still no nvnwY
iii. Explanation: if it weren’t nnan 1, it would be obvious that it is invalid
iv. Answer: because that area is not sanctified (except for “expanded” n%7x)
b.  Challenge; eating n'w1p *w1p also requires Nnan T, per Rn»11 about 2 mini-doors built in to
wings of IR (see p. 45), to allow DW7Tp *WTp NVNY and %P DWTP NYIR throughout Ny
i.  Answer (82227): n93% should be deleted from xn»1a
ii.  Challenge: v.2 obligates eating nnan
iii. Answer: that was nyw »w1p (temporary ruling for *»nwn ov) —no implications for m 7
II  Discussion about 9m:
a TR 91 pny 1 source for 7108 of 07T at sunset — v. 3: on the day it is slaughtered, must be offered
i Challenge: needed for itself (to teach 2-day duration of D'n%w nmR
ii  Answer: if so, it could have omitted yampn — addition teaches that it must be offered (77771) on day of nnvar
1 Challenge: perhaps means from day of 77771, 2 more days of 0% (if p1 next day — 2 more days of n%ox)
2 Answer: if so, it would omit ynar; inclusion means that it must be 711 on same day it is slaughtered
b Dispute jny “/pim. whether intending to eat on 3™ evening is considered %135 nawnn
i /prm not 5o - since at that time it wasn’t yet slated for na7w (only next morning)
ii gy 99w - since at that time it was already past the permissible time for eating (after n"npw)
1 Support (8n2273): 1-day w7p have 10ty yin nawnn for o7 at ny’pw and for PRI w1 at TNV TINY (next day)
(a) And:2-day (n'n%w) have 1”70 nawnn for o7 at n”npw, for PR at v’y and meat at n"npw of 2" day
¢ np77x R that nbw could be eaten on 3™ evening, parallel to those eaten for 1 day — eaten on following eve
i Therefore: v. 5 says it may only be eaten during the day
ii ~ N77p it should be burnt as soon as 15728 01 is up (N"NpW of 2nd day) — parallel to 1551 BYY Y81 —burnt Tn
1 Therefore: v. 4 stipulates that it is only burned during the day (i.e. next morning)-> 3 eve is “lag period”
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